THE BIG CHALLENGE 2006

LEVEL 4
1. “..................... my schoolbag?” “It's on your bed.”


(A) What's
(C) Where's


(B) Who is
(D) Is there
The correct answer is C

“Where's my schoolbag?” “It's on your bed.”
2. She never ............................ to London.


(A) works
(C) lives


(B) goes

(D) doesn't come

The correct answer is B
She never goes to London.
3. We can't pay because we ....................... enough money.


(A) haven't got

(C) have got


(B) doesn't have

(D) always have
The correct answer is A
We can't pay because we haven't got enough money.
4. You ............................ go to the cinema, do you?


(A) can often

(C) would like to


(B) aren't going to
(D) don't often
The correct answer is D
You don't often go to the cinema, do you?
5. John's cousins ................ to move to New York next year.


(A) are going
(C) are thinking


(B) like

(D) is intending
The correct answer is A
John's cousins are going to move to New York next year.
6. ............................... is in New York City.


(A) The Grand Canyon
(C) Hyde Park


(B) Manhattan

(D) Tower Bridge
The correct answer is B
Manhattan is in New York City.
7. ......................... go skiing this Christmas!


(A) Why don't
(C) What if


(B) How about
(D) Let's
The correct answer is D
Let's go skiing this Christmas!
8. At the last Olympics, she ........ 100 metres in record time.


(A) run

(C) ran


(B) can run
(D) has run
The correct answer is C
At the last Olympics, she ran 100 metres in record time.
9. We're going the wrong way! We .......... on the wrong bus!


(A) mustn't be
(C) must be


(B) can be
(D) must get
The correct answer is C
We're going the wrong way! We must be on the wrong bus!
10. They'll be very angry if we ...................... late.


(A) are arriving
(C) will be


(B) will arrive
(D) are

The correct answer is D
They'll be very angry if we are late.
11. Have you ................ this sort of quiz before?


(A) make
(C) done


(B) went

(D) been
The correct answer is C
Have you done this sort of quiz before?
12. Drivers .... be more careful. There are too many accidents.


(A) shouldn't
(C) should


(B) ought
(D) mustn't

The correct answer is C
Drivers should be more careful. There are too many accidents.
13. ................. of our players scored a goal. We lost 5-0.


(A) None
(C) Anyone


(B) Some
(D) Someone
The correct answer is A
None of our players scored a goal. We lost 5-0.
14. She explained everything twice but I ...... don't understand.


(A) ever

(C) still


(B) already
(D) yet

The correct answer is C
She explained everything twice but I still don't understand.
15. Complete the “family” of words: poet, novelist, author, ....


(A) fiction
(C) director


(B) playwright
(D) newsagent
The correct answer is B
playwright
16. She's the girl ........................ at the concert yesterday.


(A) who we meet

(C) who met


(B) we met

(D) we have met
The correct answer is B
She's the girl we met at the concert yesterday.
17. I hope it stops ............... soon. Then we can play tennis.


(A) raining
(C) of rain


(B) rain

(D) to rain
The correct answer is A
I hope it stops raining soon. Then we can play tennis.
18. He got ............... the car and went into the bank.


(A) from

(C) out of


(B) out

(D) away

The correct answer is C
He got out of the car and went into the bank.
19. I think you ....................... a film star in that dress!


(A) are looking
(C) are just as


(B) look like
(D) can look
The correct answer is B
I think you look like a film star in that dress!
20. Pronunciation: “understanding” = o o O o; “respectable” = ... 


(A) O o o o
(C) o o O o


(B) o O o o
(D) o o o O
The correct answer is B
o O o o
21. They're ....................... family, aren't they?


(A) so nice
(C) such nice


(B) very nice
(D) such a nice
The correct answer is D
They're such a nice family, aren't they?
22. I hate my old jeans. Can I have ........................?


(A) a new one
(C) some new


(B) one new
(D) some new ones
The correct answer is D
I hate my old jeans. Can I have some new ones?
23. My parents can't ............... hip-hop. They only like jazz.


(A) support
(C) stand


(B) mind

(D) dislike

The correct answer is C
My parents can't stand hip-hop. They only like jazz.
24. I know a lot of children ......... parents don't speak English.


(A) of which
(C) who have


(B) with

(D) whose
The correct answer is D
I know a lot of children whose parents don't speak English.
25. They have much ................. homework to do than us.


(A) less

(C) little


(B) fewer
(D) less of
The correct answer is A
They have much less homework to do than us.
26. The lift isn't working. I'm afraid you'll .... to use the stairs.


(A) have

(C) be able


(B) must

(D) allow

The correct answer is A
The lift isn't working. I'm afraid you'll have to use the stairs.
27. When she was a baby, she ............. be afraid of the dark.


(A) used

(C) didn't use


(B) use to
(D) used to
The correct answer is D
When she was a baby, she used to be afraid of the dark.
28. The population of the USA is about ........................


(A) 100 million
(C) 65 million


(B) 300 million
(D) 4.5 billion
The correct answer is B
The population of the USA is about 300 million.
29. She ........... the paper when the lights suddenly went out.


(A) has read
(C) was reading


(B) read

(D) has been reading
The correct answer is C
She was reading the paper when the lights suddenly went out.
30. I hope my parents will .............. me stay up late tonight. 


(A) leave
(C) permit


(B) allow

(D) let
The correct answer is D
I hope my parents will let me stay up late tonight.
31. Which word rhymes with “blood”?


(A) good

(C) odd


(B) mud

(D) food

The correct answer is B
mud
32. I had no idea what ............................. looking at.


(A) were the people
(C) my friends are


(B) everyone was

(D) was everyone
The correct answer is B
I had no idea what everyone was looking at.
33. I knew it was plastic but it ......................... wood.


(A) tasted like
(C) looked as if


(B) felt like
(D) looked

The correct answer is B
I knew it was plastic but it felt like wood.
34. Our car has broken ......  It's going to cost £250 to repair it.


(A) back

(C) down


(B) away
(D) off

The correct answer is C
Our car has broken down. It's going to cost £250 to repair it.
35. Pronunciation: “economy” = o O o o; “economics” =  ....


(A) O o o o
(C) o o O o


(B) o O o o
(D) o o o O
The correct answer is C
o o O o

36. I'm used ....... in the country, so I find London too noisy.


(A) to live
(C) a living


(B) to living
(D) a life
The correct answer is B
I'm used to living in the country, so I find London too noisy.
37. We heard some people .... so we knew something was wrong.


(A) shouting

(C) to shout


(B) who shouted

(D) shouted
The correct answer is A
We heard some people shouting so we knew something was wrong.
38. “Never mind” doesn't mean “..........................”


(A) Be more careful
(C) Don't worry


(B) It doesn't matter
(D) Don't get upset
The correct answer is A
“Never mind” doesn't mean “Be more careful”.
39. ....................... during the American Civil War.

(A) The USA became independent
(C) Britain ruled America

(B) Slavery was abolished   
(D) George Washington became President
The correct answer is B
Slavery was abolished during the American Civil War.
40. If you won a lot of money, what .......................... do?


(A) will you
(C) would you like


(B) can you
(D) would you
The correct answer is D
If you won a lot of money, what would you do?
41. The sound of the “ch” in “machine” is also in the word: “......”


(A) judge
(C) ocean


(B) headache
(D) church
The correct answer is C
The sound of the “ch” in “machine” is also in the word: “ocean”.
42. What terrible weather! It's ........... ever since we got here.


(A) a lot of rain
(C) been raining


(B) has rained
(D) raining
The correct answer is C
What terrible weather! It's been raining ever since we got here.
43. The county of Kent is in ...................... England.


(A) south-east
(C) north-east


(B) south-west
(D) north-west
The correct answer is A
The county of Kent is in south-east England.
44. If ............................... you, I'd tell the police.


(A) they were
(C) they had asked


(B) I were
(D) I have been
The correct answer is B
If I were you, I'd tell the police.
45. Would you ................. quiet, please? I'm trying to work.


(A) like some

(C) mind being


(B) mind if you are
(D) like to have
The correct answer is C
Would you mind being quiet, please? I'm trying to work.
46. John ............... three of the exams, but failed the others.


(A) succeeded
(C) won


(B) passed
(D) reached

The correct answer is B
John passed three of the exams, but failed the others.
47. ................. he was clever, he was never top of the class.


(A) However
(C) Although


(B) Because
(D) So that

The correct answer is C
Although he was clever, he was never top of the class.
48. He worked hard ..... the job was finished. Then he had a rest.


(A) until

(C) up to


(B) as soon as
(D) above
The correct answer is A
He worked hard until the job was finished. Then he had a rest.
49. When Mary met Paul, she was sure she ........ him before.


(A) saw

(C) had seen


(B) was seeing
(D) has seen
The correct answer is C
When Mary met Paul, she was sure she had seen him before.
50. In British politics, “the Tories” is another name for the .....


(A) Socialist party

(C) Liberal Democrats


(B) Labour party

(D) Conservatives

The correct answer is D
In British politics, “the Tories” is another name for the Conservatives.
51. Our garden is so small. I wish we ............... a bigger one.


(A) would have
(C) have


(B) can have
(D) had

The correct answer is D
Our garden is so small. I wish we had a bigger one.
52. The house needs ......................... before we move in.


(A) cleaning
(C) for cleaning


(B) to clean
(D) to be cleaning

The correct answer is A
The house needs cleaning before we move in.
53. Don't try to do it yourself! You should ....... by an expert.


(A) have done it

(C) do it


(B) have it done

(D) to have it done
The correct answer is B
Don't try to do it yourself! You should have it done by an expert.
54. The emblem of the American Democratic Party is .........


(A) an elephant
(C) a donkey


(B) a star
(D) an eagle
The correct answer is C
The emblem of the American Democratic Party is a donkey.
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1. “................................” “Not too bad, thanks.”


(A) Where's your pen?
(C) How tall are you?


(B) How are you?

(D) How old are you?
The correct answer is B.
“How are you?” “Not too bad, thanks.”
2. My brother's girlfriend ....................... in Liverpool.


(A) often goes

(C) works


(B) don't live

(D) are living
The correct answer is C.
My brother's girlfriend works in Liverpool.
3. ........................ got many friends?


(A) Did you

(C) Has he


(B) Have

(D) Are you
The correct answer is C.
Has he got many friends?
4. Is ...................................... stop here?


(A) the passenger want to
(C) your father


(B) the driver going

(D) the bus going to
The correct answer is D.
Is the bus going to stop here?
5. .............................. the High Street, doesn't she?


(A) Jenny's father works in

(C) She's walking along


(B) She's got a flat near

(D) Rick's aunt lives in
The correct answer is D.
Rick's aunt lives in the High Street, doesn't she?
6. ....................... painting the walls red?


(A) Let's


(C) What if we


(B) Why don't we

(D) How about
The correct answer is D.
How about painting the walls red?

7. They ..... at home. They went on holiday yesterday.


(A) can't be

(C) must be


(B) mustn't be

(D) can be
The correct answer is A.
They can't be at home. They went on holiday yesterday.
8. His parents .............. him a computer for his last birthday.


(A) are giving

(C) were giving


(B) give

(D) gave
The correct answer is D.
His parents gave him a computer for his last birthday.
9. If you ..... left at the traffic lights, you'll see the station in front of you.


(A) turn

(C) turned


(B) will turn

(D) went
The correct answer is A.
If you turn left at the traffic lights, you'll see the station in front of you.
10. These glasses are only for reading. You ..... them for driving.


(A) should get

(C) shouldn't wear


(B) mustn't

(D) must wear
The correct answer is C.
These glasses are only for reading. You shouldn't wear them for driving.
11. ....................... are small cakes made with chocolate.


(A) Christmas puddings
(C) Doughnuts


(B) Brownies


(D) Jellies
The correct answer is B.
Brownies are small cakes made with chocolate.
12. ........ the boys had shorts on. They were all wearing trousers.


(A) Some of

(C) Any of


(B) None of

(D) Nothing of
The correct answer is B.
None of the boys had shorts on. They were all wearing trousers.
13. He told her to speak more slowly, but she ..... speaks too fast.


(A) still

(C) hasn't stopped


(B) yet


(D) already
The correct answer is A.
He told her to speak more slowly, but she still speaks too fast.
14. Find a title for this “family” of words: fence, gate, bush, path.


(A) factory

(C) roof


(B) garden

(D) transport
The correct answer is B.
garden
15. This is the essay ................................ last week.


(A) I have written
(C) that I'm writing


(B) did I write

(D) I wrote
The correct answer is D.
This is the essay I wrote last week.
16. He worked for an hour, then he stopped ............ dinner.


(A) to have

(C) for having


(B) having

(D) to
The correct answer is A.
He worked for an hour, then he stopped to have dinner.
17. He .... the train and walked from the platform to the car park.


(A) got down

(C) went off


(B) went out

(D) got off
The correct answer is D.
He got off the train and walked from the platform to the car park.
18. ..................... is by the sea and is warm, even in winter.


(A) Dallas

(C) Toronto


(B) Loch Ness

(D) Miami
The correct answer is D.
Miami is by the sea and is warm, even in winter.

19. At Madame Tussaud’s, all the statues .................. real.


(A) look

(C) look like


(B) look as if

(D) are looking
The correct answer is A.
At Madame Tussaud’s, all the statues look real.
20. He's ..... person. He gives presents to all his friends at Christmas.


(A) so generous

(C) so generously


(B) such a generous

(D) generous a
The correct answer is B.
He's such a generous person. He gives presents to all his friends at Christmas.
21. What means the same as “It's up to you”?


(A) It's your property.

(C) It's as big as you.


(B) It's your decision.

(D) It's very close to you.
The correct answer is B.
It's your decision.
22. These brown shoes are very nice, but .... in the window are cheaper.


(A) that one

(C) the ones


(B) those black
(D) the black
The correct answer is C.
These brown shoes are very nice, but the ones in the window are cheaper.
23. Look! That's the man ..... dog attacked a child last week.


(A) with the

(C) whose


(B) of which

(D) who's got a
The correct answer is C.
Look! That's the man whose dog attacked a child last week.
24. There are .............. people in Alaska than in New York.


(A) more

(C) as many


(B) less

(D) fewer
The correct answer is D.
There are fewer people in Alaska than in New York.

25. I'm afraid you .......... to visit the castle today. It's closed.


(A) couldn't

(C) won't have


(B) can't

(D) won't be able
The correct answer is D.
I'm afraid you won't be able to visit the castle today. It's closed.
26. We ...... love coming to this beach, but it's polluted now.


(A) used to

(C) always use to


(B) could

(D) have never
The correct answer is A.
We used to love coming to this beach, but it's polluted now.
27. His translation was awful because the teacher ..... use a dictionary.


(A) didn't let him

(C) didn't ask him


(B) allowed him

(D) made her
The correct answer is A.
His translation was awful because the teacher didn't let him use a dictionary.
28. The letter “R” rhymes with ......................


(A) hair

(C) star


(B) four

(D) tour
The correct answer is C.
The letter “R” rhymes with star.

29. I couldn't understand what ...................................... 


(A) was he talking about
(C) they have said


(B) the problem was

(D) is happening
The correct answer is B.
I couldn't understand what the problem was.

30. Agatha Christie wrote ....................................


(A) horror stories

(C) poems


(B) science fiction books
(D) detective stories
The correct answer is D.
Agatha Christie wrote detective stories.

31. “Don't you like that cheese?” “No! It .......... old socks!”


(A) tastes as if

(C) smells just like


(B) smell of

(D) remembers
The correct answer is C.
“Don't you like that cheese?” “No! It smells just like old socks!”
32. I ............. along the motorway when I ran out of petrol.


(A) was driving
(C) have driven


(B) drove

(D) would drive
The correct answer is A.
I was driving along the motorway when I ran out of petrol.
33. Pronunciation: “definition” = o o O o; “geography” = .......


(A) o o O o

(C) o o o O


(B) o O o o 

(D) O o o o

The correct answer is B.
“geography” = o O o o
34. Just coffee for me, please. I'm not used ..... a big breakfast.


(A) to have

(C) to having


(B) for eating

(D) with eating
The correct answer is C.
Just coffee for me, please. I'm not used to having a big breakfast.
35. The sea must be very cold today. I can't see anyone ......


(A) swimming

(C) who are swimming


(B) to swim

(D) swims
The correct answer is A.
The sea must be very cold today. I can't see anyone swimming.

36. The “.....” is a huge wheel from which you can view the city.

(A) Hollywood Bowl

(C) London Eye

(B) Sydney Opera House
(D) Washington Memorial
The correct answer is C.

The “London Eye” is a huge wheel from which you can view the city.

37. “Would you mind not talking, please?” “.......................”


(A) Of course I will

(C) That's OK


(B) Never mind

(D) Oh, sorry
The correct answer is D.
“Would you mind not talking, please?” “Oh, sorry”.

38. Which word rhymes with “height”?


(A) eight
(C) weigh


(B) white
(D) hate
The correct answer is B.
white
39. I haven't got enough money for the bus ..... so I'll have to walk.


(A) price
(C) fare


(B) change
(D) seat
The correct answer is C.
I haven't got enough money for the bus fare so I'll have to walk.
40. The car stopped because it had .................... petrol. 


(A) run out of

(C) run down the


(B) filled up with
(D) put out the
The correct answer is A.
The car stopped because it had run out of petrol.
41. Complete the list: flat/apartment, colour/color, petrol/.......


(A) oil

(C) fuel


(B) gas

(D) diesel
The correct answer is B.
gas
42. If I wanted to get a car, ....................... me the money? 


(A) will you give

(C) did they offer


(B) could you borrow

(D) would you lend
The correct answer is D.
If I wanted to get a car, would you lend me the money?
43. Shakespeare didn't write ..................................


(A) Hamlet


(C) Charles V


(B) Romeo and Juliet

(D) Julius Caesar
The correct answer is C.
Shakespeare didn't write Charles V.

44. He ..... that book since last Monday and he hasn't finished it yet.


(A) was reading

(C) has read


(B) has been reading

(D) is reading
The correct answer is B.
He has been reading that book since last Monday and he hasn't finished it yet.
45.  The first vowel sound of “money” and of “........” are the same.


(A) mountain

(C) honest


(B) country

(D) lonely
The correct answer is B.
The first vowel sound of “money” and of “country” are the same.
46. I'd put the desk nearer the window, if ................... you.


(A) I were
(C) this were


(B) it was
(D) I would be
The correct answer is A.
I'd put the desk nearer the window, if I were you.
47. ........................ is not a member of the Commonwealth.


(A) South Africa
(C) the Republic of Ireland


(B) India

(D) Australia
The correct answer is C.
The Republic of Ireland is not a member of the Commonwealth.
48. He's strange. He's wearing an overcoat ........ it's summer!


(A) however

(C) because


(B) even though
(D) in spite of
The correct answer is B.
He's strange. He's wearing an overcoat even though it's summer!

49. None of the planes could take off ......... the fog hadn't cleared.


(A) up to

(C) until


(B) as soon as

(D) because
The correct answer is D.
None of the planes could take off because the fog hadn't cleared.
50. I wish my town ..... such narrow streets. There are always traffic jams.


(A) would have
(C) had


(B) didn't have
(D) wouldn't have
The correct answer is B.
I wish my town didn't have such narrow streets. There are always traffic jams.
51. In the United States, Thanksgiving is on .......................

(A) the third Sunday of October   

(C) the second Monday of March

(B) the fourth Thursday of November
(D) 1st May
The correct answer is B.

In the United States, Thanksgiving is on the fourth Thursday of November.
52. That coat is too long for you. It needs ..........................


(A) shortening

(C) be shortened


(B) to shorten

(D) of being shortened
The correct answer is A.
That coat is too long for you. It needs shortening.

53. He took his watch to a jeweller's and ...........................


(A) have cleaned it
(C) to clean it


(B) had cleaned it
(D) had it cleaned
The correct answer is D.
He took his watch to a jeweller's and had it cleaned.
54. “In God We Trust” is ............................................

(A) on all American coins  

     (C) the slogan of the Republican party

(B) the motto of the British monarchy   (D) the name of the American national anthem


The correct answer is A.

“In God We Trust” is on all American coins.
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1. “..........................?” “He's very well, thanks.”


(A) Is Jennifer ill

(C) What does Peter like


(B) How's your brother
(D) How are you
The correct answer is B

“How's your brother?” “He's very well, thanks.”
2. “Where's John this afternoon?” “He ............................”


(A) done the shopping
(C) goes shopping


(B) is doing the shopping
(D) does the shopping
The correct answer is B

“Where's John this afternoon?” “He is doing the shopping”
3. Can you hurry, please? I ........................... much time.


(A) haven't got
(C) doesn't have


(B) am not having
(D) 've got
The correct answer is A

Can you hurry, please? I haven't got much time.
4. Jill ................ with some friends in Scotland for a week.


(A) is staying
(C) stays


(B) is going
(D) went
The correct answer is A

Jill is staying with some friends in Scotland for a week.
5. She put her bag over there, .........................?


(A) doesn't she
(C) isn't it


(B) didn't she

(D) won't she
The correct answer is B

She put her bag over there, didn't she?
6. “Thank you very much for the present.” “.....................”


(A) Never mind.

(C) It doesn't matter.


(B) You're welcome.

(D) None of your business.
The correct answer is B
“Thank you very much for the present.” “You're welcome.”

7. That man is very muscular. He .................. very strong.


(A) mustn't be

(C) must be


(B) can't be

(D) must have
The correct answer is C

That man is very muscular. He must be very strong.
8. Last Thursday, I ........... a purse full of money on the bus.


(A) found

(C) hope I'll find


(B) have found
(D) 'd like to find
The correct answer is A

Last Thursday, I found a purse full of money on the bus.
9. “If you ......... honest, people will respect you.” said Dad.


(A) will be
(C) are always


(B) often be
(D) don't be
The correct answer is C
“If you are always honest, people will respect you.” said Dad.
10. You're very good at public speaking. You ....... to be a politician.


(A) ought
(C) should


(B) might
(D) could
The correct answer is A

You're very good at public speaking. You ought to be a politician.
11. Americans often eat pumpkin ..... at Thanksgiving. It's traditional.


(A) cake
(C) pudding


(B) pie

(D) cream
The correct answer is B
Americans often eat pumpkin pie at Thanksgiving. It's traditional.
12. ....................... decided what you would like to drink?


(A) When did you
(C) Did you


(B) Have you

(D) Are you
The correct answer is B
Have you decided what you would like to drink?
13. “Glove” rhymes with “.....................”


(A) move
(C) above


(B) mauve
(D) prove
The correct answer is C

“Glove” rhymes with “above”.
14. That's the book ....................... at the airport yesterday.


(A) was bought
(C) that was reading


(B) I bought

(D) that I've bought
The correct answer is B

That's the book I bought at the airport yesterday.
15. “............ playing a game of Monopoly?” suggested Jack.


(A) How about
(C) Let's


(B) What if we
(D) Could we
The correct answer is A

“How about playing a game of Monopoly?” suggested Jack.
16. Victoria, Waterloo, Euston and St Pancras are all ............


(A) types of pizza
(C) famous people from history


(B) London stations
(D) British military victories
The correct answer is B

Victoria, Waterloo, Euston and St Pancras are all London stations.
17. He .... dance even after two years of lessons! He'll never learn!


(A) still can't

(C) always does


(B) already can
(D) yet can't
The correct answer is A

He still can't dance even after two years of lessons! He'll never learn!
18. I wanted to go on walking but they preferred to stop .......


(A) resting

(C) and rest


(B) from walking
(D) to resting
The correct answer is C

I wanted to go on walking but they preferred to stop and rest.

19. The magician put his hand in his hat and ........... a rabbit.


(A) put out

(C) took out


(B) took from

(D) turned from
The correct answer is C

The magician put his hand in his hat and took out a rabbit.
20. The ................ go from Canada to the south of the USA.


(A) Great Lakes

(C) Rocky Mountains


(B) Niagara Falls

(D) Shetlands
The correct answer is C

The Rocky Mountains go from Canada to the south of the USA.
21. Have you noticed Kate? Doesn't she ..... sensational this evening?


(A) look

(C) looking


(B) look like

(D) looks
The correct answer is A

Have you noticed Kate? Doesn't she look sensational this evening?
22. Oh, Mum, why did you buy me ................. tie? I hate it!


(A) so horrible
(C) such terrible


(B) such an awful
(D) so bad that
The correct answer is B

Oh, Mum, why did you buy me such an awful tie? I hate it!
23. “What's .............. ?” means the same as “What's up?”.


(A) making

(C) for me


(B) happening

(D) today
The correct answer is B
“What's happening?” means the same as “What's up?”.

24. Emily ... to go skiing today. The doctor says she must stay in bed.


(A) will have

(C) won't be able


(B) will be able
(D) can't
The correct answer is C

Emily won't be able to go skiing today. The doctor says she must stay in bed.
25. Mr Nash, .... car was blocking the traffic, was very embarrassed.


(A) because of

(C) whose


(B) of which the
(D) who had the
The correct answer is C

Mr Nash, whose car was blocking the traffic, was very embarrassed.
26. In British English it's called a lift; in American English it's called ....



(A) a rise

(C) a subway


(B) an elevator
(D) an airplane
The correct answer is B

In British English it's called a lift; in American English it's called an elevator.

27. Small modern cars usually cause ...... pollution than big old cars.


(A) just a few
(C) much less


(B) fewer
(D) more
The correct answer is C

Small modern cars usually cause much less pollution than big old cars.
28. These shoes are much cheaper than ..... in the shop next door.


(A) ones

(C) that one


(B) the ones

(D) the one
The correct answer is B

These shoes are much cheaper than the ones in the shop next door.
29. Cinderella had to leave the ball .... the clock struck midnight.


(A) as soon as

(C) up to


(B) until

(D) at last
The correct answer is A

Cinderella had to leave the ball as soon as the clock struck midnight.

30. There ..... tens of thousands of tigers in India, but not any more.


(A) use to be

(C) use to have


(B) used to be

(D) was used to be
The correct answer is B

There used to be tens of thousands of tigers in India, but not any more.
31. The sergeant was very strict. He ..... run two miles in the rain yesterday.


(A) made the men
(C) has let the soldiers


(B) allowed them
(D) has made us
The correct answer is A

The sergeant was very strict. He made the men run two miles in the rain yesterday.
32. Pronunciation: "permanently" = O o o o; "disappointed" = ........


(A) O o o o
(C) o o O o


(B) o O o o
(D) o o o O
The correct answer is C

"disappointed" = o o O o

33. When we asked the boy..... , he said he was looking for a lost ball.


(A) what he was doing
(C) what was he doing


(B) what did he do

(D)what he did
The correct answer is A

When we asked the boy what he was doing, he said he was looking for a lost ball.
34. The American President will be elected in November 2008 for ....


(A) five years

(C) six years


(B) four years

(D) three years
The correct answer is B

The American President will be elected in November 2008 for four years.
35. “That's a nice crystal bowl.” “You're wrong. It .... but it's plastic!”


(A) looks as if crystal

(C) resemble crystal


(B) looks like crystal

(D) looks like plastic
The correct answer is B
“That's a nice crystal bowl.” “You're wrong. It looks like crystal but it's plastic!”

36. He ..... his favourite show when the TV broke down. He was furious.


(A) was looking
(C) looked at


(B) watched

(D) was watching
The correct answer is D

He was watching his favourite show when the TV broke down. He was furious.
37. Complete the "family" of words: lemon, orange, lime, ...


(A) apple

(C) pear


(B) grapefruit

(D) peach
The correct answer is B

grapefruit
38. After the accident, we saw Ann .... in the street. She wasn't moving.


(A) lying
(C) to lie


(B) lie

(D) which was lying
The correct answer is A

After the accident, we saw Ann lying in the street. She wasn't moving.
39. Which word rhymes with “brought”?


(A) rough
(C) height


(B) caught
(D) out
The correct answer is B

caught
40. “How much do you earn?” “I'm not telling you! ...... business!”


(A) It's always your

(C) Mind your own


(B) You must know your
(D) Keep your
The correct answer is C

“How much do you earn?” “I'm not telling you! Mind your own business!”
41. The plans are top secret. If I told anyone about them, I ..... my job.


(A) lose

(C) will lose


(B) would lose
(D) lost
The correct answer is B

The plans are top secret. If I told anyone about them, I would lose my job.
42. Gordon Brown replaced ......................... in 2007.


(A) Tony Blair
(C) George Bush


(B) Elton John

(D) Bill Gates
The correct answer is A

Gordon Brown replaced Tony Blair in 2007.
43. Paul ...... that email for half an hour and he still hasn't finished it!


(A) was writing

(C) has written


(B) has been writing

(D) has been written
The correct answer is B
Paul has been writing that email for half an hour and he still hasn't finished it!
44. “Share” doesn't rhyme with “........................”.


(A) bear

(C) star


(B) care

(D) there
The correct answer is C

star
45. Canada isn't in .........................................

      (A) the northern hemisphere
(C) the United Kingdom

      (B) North America

(D) the Commonwealth
The correct answer is C

Canada isn't in the United Kingdom.
46. If I were you, ..... that jacket. The colour doesn't suit you.


(A) I won't have
(C) you wouldn't wear


(B) I'd prefer

(D) I wouldn't buy
The correct answer is D

If I were you, I wouldn't buy that jacket. The colour doesn't suit you.
47. What do children say when they go from house to house at Halloween?


(A) “Food or fun!”
(C) “Ghost or gift!”


(B) “Trick or treat!”
(D) “Nasty or nice!”
The correct answer is B
“Trick or treat!”

48. She accepted his offer. A week later, ..... , she changed her mind.


(A) although
(C) so much


(B) during
(D) however
The correct answer is D

She accepted his offer. A week later, however, she changed her mind.
49. It's so cold in winter. I wish ............ in a warmer country.


(A) we lived
(C) that we live


(B) for living
(D) we can live
The correct answer is A

It's so cold in winter. I wish we lived in a warmer country.
50. .... was an American diplomat who discovered a lot about electricity.


(A) George Washington
(C) Winston Churchill


(B) Benjamin Franklin
(D) James Watt
The correct answer is B

Benjamin Franklin was an American diplomat who discovered a lot about electricity.
51. Like all fairy stories, everything turned ..... right in the end.


(A) out

(C) away


(B) up

(D) over
The correct answer is A

Like all fairy stories, everything turned out right in the end.
52. The kitchen floor needs ....................... twice a week.


(A) washing
(C) be washing


(B) to wash
(D) to be washing
The correct answer is A

The kitchen floor needs washing twice a week.
53. His tooth hurt a lot, so he went to the dentist's and .... out.


(A) had taken it
(C) had it taken


(B) took it

(D) had it to take
The correct answer is C

His tooth hurt a lot, so he went to the dentist's and had it taken out.
54. The Washington Post is ......................................


(A) a high-speed train

(C) a daily newspaper


(B) a historical building
(D) a stone column
The correct answer is C
The Washington Post is a daily newspaper.
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1. “................ is your dog?” “10, I think.”

A. How many

B. What name

C. How old       
D. What time
The correct answer is C

“How old is your dog?” “10, I think.”

2. My sister doesn't often ............. television.

A. watches

B. find
       
C. listens            
D. watch
The correct answer is D

My sister doesn't often watch television.

3. ................... got the time, please?

A. Does he

B. Have you

C. Did you

D. Do you
The correct answer is B

Have you got the time, please?

4. Harry and Brenda are in a restaurant. They ............ lunch together.

A. are having

B. has
    
C. doesn't have
      
D. have got the
The correct answer is A

Harry and Brenda are in a restaurant. They are having lunch together.

5. I ................. a really good short story last week.

A. seen
      
B. written

C. read
     
D. have written
The correct answer is C

I read a really good short story last week.
6. It's snowing and that poor man hasn't got a coat on. He ......... very cold.

A. probably getting



B. must be


C. can't be
D. has
The correct answer is B

It's snowing and that poor man hasn't got a coat on. He must be very cold.

7. You hear a girl say: “It doesn't work.” What could be the problem?

A. She has dropped a glass.


B. Her watch is broken.

C. Her glasses are broken.
D. Her train is late.
The correct answer is B

Her watch is broken.

8. “You're very tired, so .... stay in bed today?” said Mrs Jones to her husband.

A. why don't you



B. how about


C. if you can
D. what about
The correct answer is A

“You're very tired, so why don't you stay in bed today?” said Mrs Jones to her husband.

9. Has ................... the class about the school skiing trip?

A. she inform



B. the teacher told


C. the sports teacher tell
D. the headmaster spoke to
The correct answer is B

Has the teacher told the class about the school skiing trip?

10. “Romeo is the man ................... to marry,” said Juliet.

A. who will       
B. I want
  
C. that I can       
D. which I would like
The correct answer is B

“Romeo is the man I want to marry,” said Juliet.
11. It's going to be a difficult race, but you'll win if you ..................

A. will run fast



B. are running fast


C. do your best
D. had confidence
The correct answer is C

It's going to be a difficult race, but you'll win if you do your best.
12. The “ou” in “hour” has the same sound as the “ou” in “............”

A. four
       
B. through
   
C. flour
        
D. enough
The correct answer is C

The “ou” in “hour” has the same sound as the “ou” in “flour”.
13. Would you please stop .................. computer games? It's bedtime.

A. and play some     
B. playing your     
C. to play more      
D. from those
The correct answer is B

Would you please stop playing your computer games? It's bedtime.

14. The ....... was the ship that carried the Pilgrim Fathers to America.

A. Mayflower

B. Victory         
C. Bounty        
D. Enterprise
The correct answer is A

The Mayflower was the ship that carried the Pilgrim Fathers to America.

15. Your friend looks upset. What is it not appropriate to ask?

A. “Are you OK?”




B. “Is there anything the matter?”

C. “What have you got?”
D. “What's wrong?”
The correct answer is C

“What have you got?”
16. Roger .................... to school for two days. He's got the flu.

A. was never        
B. isn't staying

C. has been       
D. hasn't been
The correct answer is D

Roger hasn't been to school for two days. He's got the flu.

17. If you want to reduce pollution, you .............. your car so often.

A. must drive


B. ought to take

C. shouldn't use
D. can have
The correct answer is C

If you want to reduce pollution, you shouldn't use your car so often.

18. Two women are talking in the street. One says: “What about Brown's in Church Street? They're having a sale.” What can you say about the women? 

A. They are looking for a restaurant.

B. They are thinking of visiting some friends. 

C. They want to buy something.

D. They've lost their way.
The correct answer is C

They want to buy something.
19. I think dark blue curtains would look ....... with the wallpaper.

A. like to match       
B. all right       
C. nicely       
D. perfectly
The correct answer is B

I think dark blue curtains would look all right with the wallpaper.

20. The capital of Canada is .....................

A. Toronto       
B. Montreal       
C. Ottawa       
D. Canberra
The correct answer is C

The capital of Canada is Ottawa.

21. A friend thinks the colour of your new shirt doesn't look good on you. She says: “...................................”

A. It's not the right size.


B. It doesn't fit you.

C. It looks terrific on you.
D. It doesn't suit you.
The correct answer is D

“It doesn't suit you.”

22. The televison's too loud. Will you ................ a little, please?

A. turn it down    
B. put it on    
C. switch it off      
D. turn it up
The correct answer is A

The televison's too loud. Will you turn it down a little, please?

23. Have you seen “The Ice Age”? It's ................ film!

A. such great



B. such an amazing


C. so fantastic
D. so much fun
The correct answer is B

Have you seen “The Ice Age”? It's such an amazing film!

24. Pronunciation: “independent” = o o O o; “invisible” = ...........

A. O o o o


B. o O o o

C. o o O o
D. o o o O
The correct answer is B

Pronunciation: “independent” = o o O o; “invisible” = o O o o

25. In winter, it's usually ............. in New York than it is in Alaska.

A. much colder


B. more snow

C. lower temperature
D. less cold
The correct answer is D

In winter, it's usually less cold in New York than it is in Alaska.
26. When it's midday in London, it's ..................... in New York.

A. 5 p.m.




B. early morning


C. midnight
D. the middle of the night
The correct answer is B

When it's midday in London, it's early morning in New York.

27. The jam doughnuts are 50p each and .................. are 75p.

A. the one with chocolate


B. those chocolate


C. the chocolate ones
D. the jam ones
The correct answer is C

The jam doughnuts are 50p each and the chocolate ones are 75p.

28. Barack Obama, .... father was black, is the 44th President of the USA.

A. and his        
B. whose        
C. of which his        
D. of the
The correct answer is B

Barack Obama, whose father was black, is the 44th President of the USA.

29. There's thick fog over Manchester so our plane .......... land there. We'll land in Liverpool.

A. won't be able to



B. will have to


C. won't let
D. will be able to
The correct answer is A

There's thick fog over Manchester so our plane won't be able to land there. We'll land in Liverpool.

30. If someone says “Bless you!” it is probably because you have just ... 

A. coughed    
B. sneezed    
C. made a mistake   
D. had a bad dream

The correct answer is B

If someone says “Bless you!” it is probably because you have just sneezed.

31. My grandparents ............. live in a small village, but they live in London now.

A. used          
B. used to        
C. were used to        
D. use to
The correct answer is B

My grandparents used to live in a small village, but they live in London now.

32. Which of these US companies was not named after the person who founded it?

A. Nike
  
B. Ford Motor Company      
C. McDonald’s      
D. Boeing
The correct answer is A

Nike

33. Mr Banks never .............. borrow his motor bike; he's afraid she'll have an accident.

A. makes his son



B. lets his daughter


C. allows him to
D. asks her
The correct answer is B

Mr Banks never lets his daughter borrow his motor bike; he's afraid she'll have an accident.

34. She said she didn't know what .............................. about.

A. was I talking



B. was the problem


C. I was talking
D. were the books
The correct answer is C

She said she didn't know what I was talking about.

35. The “b” of "lamb” is a silent consonant. “...................” does not have a silent consonant.

A. foreign         
 

B. island


C. campsite        
D. honest
The correct answer is C

The “b” of "lamb” is a silent consonant. “Campsite” does not have a silent consonant.
36. We .... home when we had a puncture. It took ages to change the wheel.

A. drove     
 

B. was walking

C. have been driving    
D. were driving
The correct answer is D

We were driving home when we had a puncture. It took ages to change the wheel.
37. “I like this song. Who's the singer?” “I don't know, but she ........... Janet Jackson.”

A. is similar       
B. sounds as if      
C. sounds like      
D. can be
The correct answer is C

“I like this song. Who's the singer?” “I don't know, but she sounds like Janet Jackson.”

38. Which expression means “I have no preference at all”?

A. I don't care.



B. I'd rather not.


C. Never mind.
D. I can't stand it.
The correct answer is A

I don't care.

39. Complete the “family” of words: copy, attach, print, edit, ..........

A. reach       
B. save       
C. wear       
D. sale
The correct answer is B

save

40. She was looking the other way and didn't see .... . It almost hit her.

A. that the car came


B. the car coming


C. the car drive
D. the truck came
The correct answer is B

She was looking the other way and didn't see the car coming. It almost hit her.
41. Public schools in Britain are .....................................

A. primary schools



B. state schools


C. often very expensive
D. only for difficult students
The correct answer is C

Public schools in Britain are often very expensive.
42. “Grown” rhymes with “..................”.

A. clown       
B. moon       
C. throne       
D. town

The correct answer is C

“Grown” rhymes with “throne”.
43. I haven't seen him for years so I don't think ............ recognise him if I saw him now.

A. I would     
B. I will be able to      
C. I can easily      
D. I wouldn't
The correct answer is A

I haven't seen him for years so I don't think I would recognise him if I saw him now.

44. You've been ......................... hours. It must be very good.

A. reading that book for


B. watched that film for

C. read the book for
D. playing that game since
The correct answer is A

You've been reading that book for hours. It must be very good.

45. He thought his painting was really good. ...... , no one else liked it.

A. Although      
B. Even though      
C. In spite       
D. However
The correct answer is D

He thought his painting was really good. However, no one else liked it.
46. The “ i ” in "light” sounds the same as the “ei” in ...............

A. eight       
B. height       
C. receive       
D. being
The correct answer is B

The “ i ” in "light” sounds the same as the “ei” in height.
47. A friend says: “Even though I'm quite keen on history, I never get good marks in it.” What could you say?

A. What don't you like about it?

B. I don't like history either.

C. I get high marks too.

D. Perhaps you should take more notes in class.
The correct answer is D

Perhaps you should take more notes in class.

48. ................... you, I wouldn't buy that computer.

A. If that was      
B. If I were      
C. In place of      
D. That I was
The correct answer is B

If I were you, I wouldn't buy that computer.

49. The present British Prime Minister is a member of the ......... party.

A. Conservative     
B. Democratic     
C. Labour       
D. Republican
The correct answer is C

The present British Prime Minister is a member of the Labour party.

50. I wish I .............. to babysit my little brother. It's so boring.

A. didn't have       
B. have       
C. couldn't       
D. don't have
The correct answer is A

I wish I didn't have to babysit my little brother. It's so boring.
51. Our classrooms are very old-fashioned. They need ..................

A. for modernising



B. to modernise


C. modernising
D. to be modernising
The correct answer is C

Our classrooms are very old-fashioned. They need modernising.
52. The sign on the gate said “Private property. ....”, so we didn't go in.

A. Stay off!       
B. Keep out!       
C. Take away!       
D. Go past!
The correct answer is B

The sign on the gate said “Private property. Keep out!”, so we didn't go in.

53. Jenny offered to do my hair but I'd rather ........................ by a professional hairdresser.

A. make it cut


B. have done it

C. have it done
D. have them made
The correct answer is C 

Jenny offered to do my hair but I'd rather have it done by a professional hairdresser.

54. One of these facts about the US President is not true. Which one? 

A. His middle name is Hussein.

B. He is the first-ever mixed-race US President.

C. He was born in Kenya.

D. His mother was white.
The correct answer is C

He was born in Kenya.
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1. In the centre of the town .................. a very old church.

A. it has           
B. there is          
C. there has         
D. he was
The correct answer is B
In the centre of the town there is a very old church.

2. I always .............. this sweater in cold water because it's very delicate.

A. washing        
B. am washing        
C. watch        
D. wash
The correct answer is D
I always wash this sweater in cold water because it's very delicate.

3. We can't make an omelette because ..................... any eggs.

A. we don't need



B. there are


C. we haven't got
D. there isn't
The correct answer is C
We can't make an omelette because we haven't got any eggs.

4. I can't use the computer at the moment because Sally ............. an email to her friend in Australia.

A. finishes         
B. is writing       
C. has got         
D. reading
The correct answer is B
I can't use the computer at the moment because Sally is writing an email to her friend in Australia.

5. The magician ............. the rabbit out of his hat and put it on the table.

A. pulls             
B. taken            
C. took             
D. is pulling
The correct answer is C
The magician took the rabbit out of his hat and put it on the table.

6. If you don't know what the word means, ................ use a dictionary?

A. what about      
B. what if        
C. why don't you       
D. let you
The correct answer is C
If you don't know what the word means, why don't you use a dictionary?

7. There are ................. people on the beach today. It's really crowded.

A. only a few       
B. not enough       
C. so much        
D. too many
The correct answer is D
There are too many people on the beach today. It's really crowded.

8. Your grandmother is in hospital and you send her a card. What message is it appropriate to write on the card?

A. Get up quickly!



B. Better luck next time!

C. Get well soon!
D. Have a nice trip!
The correct answer is C
Get well soon!

9. ............................ is in Canada.

A. Alaska          
B. Vancouver        
C. The Lake District        
D. Sydney
The correct answer is B
Vancouver is in Canada.

10. Let's go to that restaurant. There are lots of people inside so it ..... good!

A. must be        
B. can't be        
C. might have        
D. can be
The correct answer is A
Let's go to that restaurant. There are lots of people inside so it must be good!

11. “Fire” rhymes with “..................”

A. sir         
B. higher          
C. near          
D. fair
The correct answer is B
“Fire” rhymes with “higher”.

12. “....................... paid for all of us, Bill?” “No, just for myself.” 

A. Has it    


B. Did you         

C. When did you
D. Have you
The correct answer is D
“Have you paid for all of us, Bill?” “No, just for myself.”

13. The Adventures of Tom Sawyer is a book ................... to read.

A. that you must



B. which needs       

C. I really want
D. you can
The correct answer is C
The Adventures of Tom Sawyer is a book I really want to read.

14. In the doctor's waiting room, you hear a man say, “I can't stand waiting.” What does he mean?

A. He needs to walk up and down.


B. He wants to sit down.


C. He can't wait any longer.
D. He hates waiting.
The correct answer is D
He hates waiting.

15. Harvard, Yale and Princeton are famous ...........................

A. English public schools


B. American universities

C. British castles
D. American scientists
The correct answer is B
Harvard, Yale and Princeton are famous American universities.
16. Complete the “family” of words: cabin, engine, pilot, ...................

A. wing         
B. anger        
C. novel       
D. earth
The correct answer is A
wing

17. No one has seen Mr Watson for ............................... 

A. ages    
 

B. last July            
C. two months ago
D. the day before yesterday
The correct answer is A
No one has seen Mr Watson for ages.

18. If you want to lose weight, you .................. eat so much chocolate.

A. ought to    


B. shouldn't        

C. might

D. don't have to
The correct answer is B
If you want to lose weight, you shouldn't eat so much chocolate.
19. I've met her several times but she .............. remember my name!

A. still doesn't       
B. never       
C. isn't able      
D. always helps
The correct answer is A
I've met her several times but she still doesn't remember my name!

20. In the 19th century, a lot of Americans travelled west ...............

A. to find a better way of life

B. to work in the movies in Hollywood

C. because it wasn't as hot as the east

D. to escape from the British soldiers
The correct answer is A
In the 19th century, a lot of Americans travelled west to find a better way of life.
21. When someone says “Thank you” to you, what is it not appropriate for you to say?

A. It's a pleasure.



B. You're welcome.


C. Don't mention it.
D. It doesn't matter.
The correct answer is D
It doesn't matter.

22. Pronunciation: “decorating” = O o o o; “developing” = ...............

A. O o o o           
B. o O o o          
C. o o O o          
D. o o o O
The correct answer is B

Pronunciation: “decorating” = O o o o; “developing” = o O o o

23. You should read her books. She writes ................... stories.

A. so interesting



B. such wonderful


C. of such an exciting
D. so fascinated
The correct answer is B
You should read her books. She writes such wonderful stories.

24. Because you don't have an appointment, I'm afraid you ........ wait.

A. didn't have to     
B. 'll have to      
C. mustn't      
D. 'll be able to
The correct answer is B
Because you don't have an appointment, I'm afraid you'll have to wait.

25. You hear a man say, “I was booking some plane tickets online when the system crashed.” What is he talking about?

A. An accident in the street. 



B. A plane crash.



C. A financial crisis.
D. A computer problem.
The correct answer is D
A computer problem.

26. There are thousands of Americans ............................ ancestors were on The Mayflower.

A. with          
B. whose         
C. of which the         
D. that their
The correct answer is B
There are thousands of Americans whose ancestors were on The Mayflower.

27. I ............. about sunshine and sandy beaches when the alarm rang and I woke up.

A. have dreamed    
B. dreamed    
C. was dreaming    
D. used to dream
The correct answer is C
I was dreaming about sunshine and sandy beaches when the alarm rang and I woke up.

28. Bill Gates and Steve Jobs ...............................

A. play the guitar with a famous rock group   

B. founded computer companies      
C. are British politicians
D. were American movie stars
The correct answer is B
Bill Gates and Steve Jobs founded computer companies.
29. American students often .................... a little money by working part-time in the evenings.

A. earn          
B. gains         
C. win         
D. spend
The correct answer is A
American students often earn a little money by working part-time in the evenings.

30. There ..... terrible traffic jams here before they built the motorway.

A. didn't use to have   
B. used to be    
C. was often   
D. use to happen
The correct answer is B
There used to be terrible traffic jams here before they built the motorway.

31. The “ea” in “fear” has the same sound as the “ea” in “..............”

A. pear          
B. health        
C. heard        
D. hear
The correct answer is D
The “ea” in “fear” has the same sound as the “ea” in “hear”.
32. I'm not going to give you any more money ................ you promise not to spend it on clothes.

A. unless        
B. as soon as       
C. up to when        
D. so that
The correct answer is A
I'm not going to give you any more money unless you promise not to spend it on clothes.

33. The old lady asked the little boy why .........................

A. he was crying    
B. did he cry    
C. has he cried    
D. was he crying
The correct answer is A
The old lady asked the little boy why he was crying.
34. President .................... helped abolish slavery in the USA.

A. Clinton        
B. Washington        
C. Lincoln        
D. Kennedy
The correct answer is C
President Lincoln helped abolish slavery in the USA.

35. Yesterday a waitress in that café ........ hot coffee all over my suit.

A. lifted       
B. spilled       
C. fell down       
D. turned over
The correct answer is B
Yesterday a waitress in that café spilled hot coffee all over my suit.
36. You look terrible. If ........................... , I'd go and see a doctor. You might have a virus.

A. you had better



B. I were you


C. it will be necessary
D. you were listening
The correct answer is B
You look terrible. If I were you, I'd go and see a doctor. You might have a virus.
37. You have broken your brother's CD. He is furious but you don't think it's important and try to calm him down. 

What can you say to him?

A. Don't make such a fuss.


B. You're making a mess.

C. You're welcome.
D. You should get upset.
The correct answer is A
Don't make such a fuss.

38. His fans .................. disappointed if he didn't win the match.

A. will be extremely


B. would be very


C. wouldn't have
D. won't have to
The correct answer is B
His fans would be very disappointed if he didn't win the match.

39. It was only a reproduction of a Roman statue but it .... the real thing!

A. looked as if     
B. was as if     
C. looked like     
D. was looking
The correct answer is C
It was only a reproduction of a Roman statue but it looked like the real thing!

40. The teacher's remarks about Teresa's essay .......... her realise that she should work harder.

A. let         
B. obliged        
C. made        
D. allowed
The correct answer is C
The teacher's remarks about Teresa's essay made her realise that she should work harder.

41. Pronunciation: “Massachusetts” = o o O o; “Colorado” = ...........

A. O o o o        
B. o O o o         
C. o o O o           
D. o o o O
The correct answer is C

Pronunciation: “Massachusetts” = o o O o; “Colorado” = o o O o

42. The death of her dog was a terrible shock. I don't think she'll ever ... it.

A. turn over      
B. get over        
C. get away        
D. make up
The correct answer is B
The death of her dog was a terrible shock. I don't think she'll ever get over it.

43. ................. is the center of the financial district of New York.

A. Broadway     
B. Hollywood     
C. Wall Street     
D. Times Square
The correct answer is C
Wall Street is the center of the financial district of New York.

44. The firemen heard someone ........... for help from under the ruins of the hotel.

A. to cry      
B. that shouted      
C. crying      
D. which was shouting
The correct answer is C
The firemen heard someone crying for help from under the ruins of the hotel.

45. They ............... that skyscraper for years but they say it won't be finished until 2020!

A. were building  



B. have been building  

C. are building
D. have built
The correct answer is B
They have been building that skyscraper for years but they say it won't be finished until 2020!

46. Which pair of words does not rhyme?

A. rough, enough



B. tough, though


C. thought, bought
D. though, although
The correct answer is B
tough, though

47. I asked him if something was wrong but he told me to mind .........

A. about nothing



B. my own business


C. nothing to him
D. at all
The correct answer is B
I asked him if something was wrong but he told me to mind my own business.

48. Bakers have to get used ............... very early in the morning.

A. to wake up      
B. for working      
C. to getting up      
D. to work
The correct answer is C
Bakers have to get used to getting up very early in the morning.

49. I wish we ...................... so much homework to do every night.

A. were getting     
B. won't have     
C. didn't have     
D. don't get
The correct answer is C
I wish we didn't have so much homework to do every night.

50. Columbia, Ohio, Hudson and Missouri are all names of ...........

A. major rivers in the USA
    



B. US states
    
    
C. NASA space missions
D. capitals of US states
The correct answer is A
Columbia, Ohio, Hudson and Missouri are all names of major rivers in the USA.
51. Your hair needs ................... . It's much too long.

A. to cut          
B. cutting         
C. to be cutting         
D. be cut
The correct answer is B
Your hair needs cutting. It's much too long.

52. …………………… he couldn't read or write, he became a very successful businessman.

A. However       
B. Even though       
C. Because       
D. In spite
The correct answer is B
Even though he couldn't read or write, he became a very successful businessman.

53. His tooth hurt so he went to the dentist's and ................ out.

A. had taken it      
B. had it taken      
C. got it       
D. was taken
The correct answer is B
His tooth hurt so he went to the dentist's and had it taken out.
54. Only one of these facts about the US population is true. Which one?

A. There are fewer Hispanics now than 20 years ago.

B. There are more African-Americans than Hispanics.

C. There are more Hispanics than Native Americans.

D. There are no African-Americans in the southern states.
The correct answer is C
There are more Hispanics than Native Americans.
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1. “How old ……?” “She's fifteen.” 

A. has she 

B. is she 

C. is Mr Harris 

D. are you 

The correct answer is B. 

“How old is she?” “She's fifteen.” 

2. John doesn't feel very well. He …… a headache. 

A. has got 

B. gets 

C. are having 

D. have 

The correct answer is A. 

John doesn't feel very well. He has got a headache. 

3. I …… to the news on the radio every morning. 

A. listen 

B. watch 

C. hear 

D. see 

The correct answer is A. 

I listen to the news on the radio every morning. 

4. “Why isn't Penny at home?” “She …… her grandparents in the country today.”     

A. visit 

B. is going 

C. is visiting 

D. goes 

The correct answer is C. 

“Why isn't Penny at home?” “She is visiting her grandparents in the country today.” 

5. There are a lot of dark clouds. I think it …… rain. 

A. goes to 

B. is going to 

C. is probably going 

D. goes 

The correct answer is B. 

There are a lot of dark clouds. I think it is going to rain. 

6. …… days are there in February? 

A. Are there many 

B. How much 

C. A lot of 

D. How many 

The correct answer is D. 

How many days are there in February? 

7. The …… is where President Obama lives. 

A. Pentagon 

B. Capitol 

C. White House 

D. Empire State Building 

The correct answer is C. 

The White House is where President Obama lives. 

8. When you give your seat to an old lady in the bus, she says “Thank you very much.” What can you say? 

A. It's very kind of you. 

B. Never mind. 

C. You're welcome. 

D. I don’t care. 

The correct answer is C.  

When you give your seat to an old lady in the bus, she says “Thank you very much.” What can you say? 

“You're welcome.” 

9. …… making a chocolate cake for tea?   

A. Let's 

B. How about 

C. Why don't we 

D. Can we 

The correct answer is B. 

How about making a chocolate cake for tea? 

10. They've got three cars and an enormous house. They …… very rich!      

A. can't be 

B. mustn't be 

C. can have 

D. must be 

The correct answer is D. 

They've got three cars and an enormous house. They must be very rich! 

11. Have …… an email to Fred and Sarah?   

A. we wrote 

B. you sent 

C. they received 

D. you make 

The correct answer is B. 

Have you sent an email to Fred and Sarah? 

12. “Fight” rhymes with “……”  

A. high 

B. height 

C. hit 

D. hate 

The correct answer is B. 

“Fight” rhymes with “height”. 

13. You've eaten all the sweets! There aren't …… 

A. left any 

B. some now 

C. any left 

D. at all 

The correct answer is C. 

You've eaten all the sweets! There aren't any left. 

14. The capital of the USA is in  …… 

A. the District of Columbia  

B. New York State  

C. Massachusetts 

D. California 

The correct answer is A. 

The capital of the USA is in the District of Columbia. 

15. Someone says to you, “You can take out four books and keep them for up to three weeks.” Where are you? 

A. In a bookshop. 

B. In a library. 

C. In a newsagent's. 

D. At a ticket office. 

The correct answer is B. 

Someone says to you, “You can take out four books and keep them for up to three weeks.” Where are you? 

In a library. 

16. Look at all these spelling mistakes! …… be more careful.     

A. You should 

B. You don't have 

C. Why can you 

D. They shouldn't 

The correct answer is A. 

Look at all these spelling mistakes! You should be more careful. 

17. Complete the "'family" of words: knife, fork, glass, …… 

A. salt 

B. plate 

C. sock 

D. carpet 

The correct answer is B. 

Complete the "'family" of words: knife, fork, glass, plate 

18. If you …… the next train, you won't arrive in time for the meeting. 

A. will catch 

B. don't catch 

C. have taken 

D. didn't take 

The correct answer is B. 

If you don't catch the next train, you won't arrive in time for the meeting. 

19. I …… seen that film. I don't want to see it again. 

A. have still 

B. have already 

C. would like to 

D. haven't yet 

The correct answer is B. 

I have already seen that film. I don't want to see it again. 

20. …… was not an American president. 

A. George Washington 

B. Winston Churchill 

C. Abraham Lincoln 

D. Ronald Reagan 

The correct answer is B. 

Winston Churchill was not an American president. 

21. These roses have got more perfume than …… in my garden. 

A. the ones 

B. I have got roses 

C. the pink 

D. white one 

The correct answer is A. 

These roses have got more perfume than the ones in my garden. 

22. You ask a friend if he wants to watch a DVD or play a video game. He says, “It's up to you.” What does he mean? 

A. He wants to choose. 

B. He doesn't like DVDs or video games. 

C. He doesn't have a preference. 

D. He's going upstairs. 

The correct answer is C. 

You ask a friend if he wants to watch a DVD or play a video game. He says, “It's up to you.” What does he mean? 

He doesn't have a preference. 

23. Pronunciation: "democratic" = o o O o; "republican" = …… 

A. O o o o 

B. o O o o 

C. o o O o 

D.  o o o O 

The correct answer is B. 

"republican" = o O o o 

24. The Simpsons is the TV programme …… best.   

A. that's for me 

B. I like 

C. which the 

D. is that the 

The correct answer is B. 

The Simpsons is the TV programme I like best.   

25. It …… about eight hours to cook a Christmas pudding! 

A. makes 

B. takes 

C. puts 

D. finds 

The correct answer is B. 

It takes about eight hours to cook a Christmas pudding! 

26. It's a pity that we …… to see the eclipse; apparently it will only be visible in the southern hemisphere. 

A. can't possibly 

B. won't have 

C. couldn't 

D. won't be able 

The correct answer is D. 

It's a pity that we won't be able to see the eclipse; apparently it will only be visible in the southern hemisphere. 

27. …… Luther King demanded equal rights for African-Americans. 

A. Martin 

B. Malcolm 

C. Mark 

D. Martha 

The correct answer is A. 

Martin Luther King demanded equal rights for African-Americans. 

28. Catherine of Aragon, …… parents were the rulers of Spain, was Henry VIII's first wife.   

A. of which the 

B. that her 

C. who had 

D. whose 

The correct answer is D. 

Catherine of Aragon, whose parents were the rulers of Spain, was Henry VIII's first wife.   

29. The “ie” in “believe” has the same sound as the “ie” in ……   

A. piece 

B. died 

C. lies 

D. friend 

The correct answer is A. 

The “ie” in “believe” has the same sound as the “ie” in “piece”. 

30. I …… the supermarket when, suddenly, a man knocked me down and took my bag.   

A. was coming out of 

B. left 

C. have gone into 

D. got out of 

The correct answer is A. 

I was coming out of the supermarket when, suddenly, a man knocked me down and took my bag. 

31. When I was a child, I …… to the zoo every Sunday to feed the animals.   

A. was always 

B. used to go 

C. have gone 

D. stayed 

The correct answer is B. 

When I was a child, I used to go to the zoo every Sunday to feed the animals.   

32. The firemen …… the fire as quickly as possible and, fortunately, no one was hurt. 

A. went off 

B. put out 

C. got away 

D. ran down 

The correct answer is B. 

The firemen put out the fire as quickly as possible and, fortunately, no one was hurt. 

33. The reporter is asking everyone …… voting for in the election.   

A. if they are 

B. who they are 

C. what is he 

D. who are they 

The correct answer is B. 

The reporter is asking everyone who they are voting for in the election.   

34. You have hurt your ankle and the doctor has said you mustn't play any sport for a week. What do you say when a friend asks you, “How about a game of tennis?” 

A. I don't have to play. 

B. I'd better not, thanks.  

C. I don't mind. 

D. I'd rather play tennis. 

The correct answer is B. 

You have hurt your ankle and the doctor has said you mustn't play any sport for a week. What do you say when a friend asks you, “How about a game of tennis?” 

“I’d better not, thanks.” 

35. If that shirt cost less, I …… it for you. 

A. buy 

B. would buy 

C. have bought 

D. will buy 

The correct answer is B. 

If that shirt cost less, I would buy it for you. 

36. 650 = the number of …… 

A. US states 

B. British Members of Parliament 

C. counties in England 

D. books by Agatha Christie 

The correct answer is B. 

650 = the number of British Members of Parliament 

37. The opposite of “fail an exam” is “…… an exam”.  
A. take 

B. succeed 

C. pass 

D. make 

The correct answer is C. 

The opposite of “fail an exam” is “pass an exam”. 

38. Pronunciation: “conjugation” = o o O o; “unhappily” = “……” A. O o o o B. o O o o C. o o O o D. o o o O  

The correct answer is B. 

“unhappily” = “o O o o” 

39. You must never …… play with matches.    

A. allowing children 

B. leave a baby 

C. permit him 

D. let a young child 

The correct answer is D. 

You must never let a young child play with matches.    

40. I'd write to her and apologise, …… you. I'm sure she'll understand.    

A. wouldn't 

B. if she was 

C. in case of 

D. if I were 

The correct answer is D. 

I'd write to her and apologise, if I were you. I'm sure she'll understand. 

41. The ……………….. began in 1775. 

A. Norman invasion of England 

B. colonization of America 

C. American War of Independence 

D. construction of the Empire State Building 

The correct answer is C. 

The American War of Independence began in 1775. 

42. It was so foggy that I didn't see …… until it was too late. 

A. approach the man 

B. the truck coming  
C. the other car to come 

D. was anything there 

The correct answer is B. 

It was so foggy that I didn't see the truck coming until it was too late. 

43. We were walking in the forest when suddenly we …… the ruins of an old castle. 

A. took over 

B. went off 

C. looked up 

D. came across 

The correct answer is D. 

We were walking in the forest when suddenly we came across the ruins of an old castle. 

44. Which pair of words rhymes? 

A. meat, great 

B. although, through 

C. hear, bear 

D. said, led 

The correct answer is D. 

Which pair of words rhymes?  

said, led 

45. The police won't free him unless he …… everything he knows about the crime. 

A. tells them 

B. will promise to say 

C. will tell them 

D. told them 

The correct answer is A. 

The police won't free him unless he tells them everything he knows about the crime. 

46. She's always lived with her family so she's not used …… on her own.   

A. to live 

B. to being 

C. having to be 

D. living 

The correct answer is B. 

She's always lived with her family so she's not used to being on her own.   

47. An artist …… the Prince's portrait for over a month now. It will be finished next week.   

A. has painted 

B. has been painting 

C. is painting 

D. was painting 

The correct answer is B. 

An artist has been painting the Prince's portrait for over a month now. It will be finished next week. 

48. She liked the blue dress very much. …… , she didn't buy it – it was too expensive.  

A. Even 

B. Therefore 

C. However 

D. Meanwhile 

The correct answer is C. 

She liked the blue dress very much. However, she didn't buy it – it was too expensive. 

49. …… is one of the 10 largest National Parks in the USA. 

A. Yellowstone 

B. Manhattan 

C. Central Park 

D. Alaska 

The correct answer is A. 

Yellowstone is one of the 10 largest National Parks in the USA. 

50. I wish I …… live so far from my school. I'm tired of spending two hours on the bus every day. 

A. could            

B. didn't 

C. wouldn't 

D. don't 

The correct answer is B. 

I wish I didn't live so far from my school. I'm tired of spending two hours on the bus every day. 

51. If you see an “FAQ” section on an Internet site, it means “…… Questions”.  

A. Friends And 

B. Frequently Asked 

C. For All 

D. Find the Answers to 

The correct answer is B. 

If you see an “FAQ” section on an Internet site, it means “Frequently Asked Questions”. 

52. The light from this torch isn't very bright. I think the batteries need ……   

A. changing 

B. to change 

C. be changed 

D. change 

The correct answer is A. 

The light from this torch isn't very bright. I think the batteries need changing. 

53. They found they couldn't get the new washing machine in the car so they ……   

A. had delivered it 

B. got to deliver it 

C. had it delivered 

D. made it deliver 

The correct answer is C. 

They found they couldn't get the new washing machine in the car so they had it delivered. 

54. The British monarch is also the Head of State of ……  

A. Canada 

B. India 

C. South Africa 

D. Malta 

The correct answer is A. 

The British monarch is also the Head of State of Canada. 
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1. “............ your mother today?”  “Much better, thanks.”

A. Where is


B. How is



C. How old


D. Who are

The correct answer is B.

“How is your mother today?”  “Much better, thanks.”

2. The New York Times is a very good paper. My brother ................. it every morning.

A. is buying


B. get



C. reads



D. goes

The correct answer is C.

The New York Times is a very good paper. My brother reads it every morning.

3. Have ........... enough money for your bus ticket?

A. you got


B. do you



C. there



D. she

The correct answer is A.

Have you got enough money for your bus ticket?

4. I’m sorry, you can’t speak to Jane at the moment. She ...... a bath.

A. is having


B. taking



C. has



D. is looking

The correct answer is A.

She is having a bath.

5. Which word is not the name of an animal?

A. wolf



B. beef



C. bear



D. pig

The correct answer is B.

beef

6. “Are you ............ finish those chips? If not, I’ll eat them.”
A. like to



B. have to       

C. thinking about


D. going to

The correct answer is D.

“Are you going to finish those chips? If not, I’ll eat them.”
7. Your friend is taking an important exam soon and you send him a card. What message is it appropriate to write on the card?

A. Good luck!       

B. Help yourself!       

C. Well done!      

D. Good job!

The correct answer is A.

Good luck!       

8. “Would you like some peas?” “Just a ............... , please.”

A. lots



B. few



C. little



D. lot

The correct answer is B.

“Would you like some peas?” “Just a few, please.”

9. It’s really hot now, so ............ all go to the beach for the afternoon?

A. why don’t we



B. how about



C. what if

D. what about

The correct answer is A.

It’s really hot now, why don’t we all go to the beach for the afternoon?

10. ........................... is a large city in the north-east of the USA.

A. Dallas



B. Detroit


C. Las Vegas 

D. New Orleans

The correct answer is B.

Detroit is a large city in the north-east of the USA.

11. “Look at that man over there with grey hair. Is it Mr Harris?” 

“.................. ! Mr Harris has got brown hair.”

A. It can’t be



B. He must be



C. It mustn’t be 

D. He can’t possibly

The correct answer is A.

“It can’t be! Mr Harris has got brown hair.”

12. Has .................. the notice about sports day? The headmaster has decided to cancel it.

A. they make

 

B. everyone seen



C. Peter’s read 

D. the teachers written

The correct answer is B.

Has everyone seen the notice about sports day? The headmaster has decided to cancel it.

13. Complete the “family” of words: mountain, valley, river, ................

A. edge



B. screen



C. hill



D. ladder

The correct answer is C.

Complete the “family” of words: mountain, valley, river, hill.

14. Brooklyn, Golden Gate and Tower are all names of famous ...............

A. skyscrapers


B. castles


C. animals


D. bridges

The correct answer is D.

Brooklyn, Golden Gate and Tower are all names of famous bridges.

15. You were very good in the school play. You .............. to go to drama school and become an actor.

A. should



B. ought



C. had better


D. could

The correct answer is B.

You ought to go to drama school and become an actor.

16. “Said” rhymes with “..........” 

A. laid



B. played



C. bread



D. tied

The correct answer is C.

“Said” rhymes with “bread”.

17. You’ll never pass your exams if you ............... more time on your homework.

A. will spend


B. give
      

C. won’t find
       

D. don’t spend

The correct answer is D.

You’ll never pass your exams if you don’t spend more time on your homework.

18. Which of these tourist attractions is on the border of two countries?

A. Mount Rushmore


B. The Grand Canyon

C. Niagara Falls

D. Times Square

The correct answer is C.

Niagara Falls

19. There ............. international news on local TV channels in the USA.

A. haven’t got any



B. isn’t much



C. aren’t a lot of

D. isn’t an

The correct answer is B.

There isn’t much international news on local TV channels in the USA.

20. She’s lived in China for three years but she ...... speak the language.

A. hasn’t already        

B. has just       

C. still can’t        

D. isn’t yet

The correct answer is C.

She’s lived in China for three years but she still can’t speak the language.

21. Pronunciation: “revolution” = o o O o; “conservative” = ...........

A. O o o o



B. o O o o



C. o o O o



D. o o o O

The correct answer is B.

“conservative” = o O o o

22. Don’t buy your tomatoes here. They’ve got ................. in the shop across the street.

A. the better ones



B. nicer ones 



C. some better 

D. the nicest one

The correct answer is B.

They’ve got nicer ones in the shop across the street.

23. The train from Denver never arrives ........... time. It’s always late.

A. on



B. in
 


C. at



D. to

The correct answer is A.

The train from Denver never arrives on time. It’s always late.

24. That’s the DVD ................. for my birthday. But Mum and Dad gave me a book instead.

A. that I gave



B. which I would like


C. I wanted 

D. that I would have

The correct answer is C.

That’s the DVD I wanted for my birthday.

25. At the beach, you say to a friend, “Don’t go swimming here! It’s too dangerous!” He doesn’t listen. What might he say before he runs into the sea?

A. Don’t disturb me!


B. I don’t care!



C. You’re welcome!

D. It’s out of order!

The correct answer is B.

“Don’t go swimming here! It’s too dangerous!” “I don’t care!”
26. I’m afraid your ankle is badly twisted. You ......... to play football for quite a long time.

A. won’t be able
 

B. are going


C. will have          

D. mustn’t

The correct answer is A.

You won’t be able to play football for quite a long time.

27. The American ................... movement in the 1950s began because of racial discrimination.

A. feminist



B. civil rights

C. human rights

D. anti-slavery

The correct answer is B.

The American civil rights movement in the 1950s began because of racial discrimination.

28. George VI, .................... was Queen Victoria, came to the throne in 1936 when his brother abdicated.

A. whose great-grandmother



B. who’s married




C. of which his grandmother 

D. who his mother

The correct answer is A.

George VI, whose great-grandmother was Queen Victoria, came to the throne in 1936 when his brother abdicated.

29. Which pair of words rhymes?

A. book, food



B. earn, burn

C. key, grey

D. heart, hurt

The correct answer is B.

earn, burn

30. The plane .............. over the Pacific Ocean when an engine caught fire. The pilot managed to land on a small island.

A. went up          

B. was flying                

C. flew
            

D. crashed

The correct answer is B.

The plane was flying over the Pacific Ocean when an engine caught fire.

31. “............ my house!” she shouted. “I never want to see you again!”

A. Go away           

B. Keep back           

C. Get out of           

D. Turn off

The correct answer is C.

“Get out of my house!” she shouted. “I never want to see you again!”

32. There ....................... a lot of crime in the city before the Mayor doubled the number of policemen.

A. used to be



B. could be



C. has been 

D. were always

The correct answer is A.

There used to be a lot of crime in the city before the Mayor doubled the number of policemen.

33. When I asked him what .................... , he said, “Can’t you see it? There, in the sky: a flying saucer!”

A. was he doing there
 

B. he has looked for



C. could he see 

D. he was looking at

The correct answer is D.

When I asked him what he was looking at, he said, “Can’t you see it? There, in the sky: a flying saucer!”

34. In text messages, “btw” means “by the way”. What does “lol” mean?

A. lots of love

 

B. laughing out loud


C. let’s go offline 

D. last of the list

The correct answer is B.

laughing out loud

35. You can say “I don’t mind” when ..................................

A. something doesn’t bother you.


B. someone steps on your foot.

C. you have a strong opinion.

D. you hate something.

The correct answer is A.

You can say “I don’t mind” when something doesn’t bother you.

36. Most people think there would be a revolution if the President .................... the country.

A. has visited            

B. left            

C. goes to            

D. won’t help

The correct answer is B.

Most people think there would be a revolution if the President left the country.

37. English is not an official language in .................

A. India
     

B. South Africa
       

C. Argentina
      

D. Pakistan

The correct answer is C.

English is not an official language in Argentina.

38. Your reaction ........... me realise that I have been very stupid. I’m sorry.

A. can let           

B. has made


C. allows
      

D. leaves

The correct answer is B.

Your reaction has made me realise that I have been very stupid. I’m sorry.

39. Pronunciation: “development” = o O o o; “appropriate” = “.....”

A. O o o o
             

B. o O o o             

C. o o O o           

D. o o o O

The correct answer is B.

“appropriate” = “o O o o”

40. If I .................... , I’d ask the neighbours to help.

A. asked them



B. am in your position

C. were you

D. was your case

The correct answer is C.

If I were you, I’d ask the neighbours to help.

41. “You’ve got a wonderful smile!” Sarah told Peter. It was obvious that she ....................... on him.

A. had a crush



B. wanted to go out


C. was very interesting 

D. felt love

The correct answer is A.

It was obvious that she had a crush on him.

42. “Can you smell .....................?” 

“Oh no! I forgot to take the meat out of the oven!”

A. something burning


B. anything burns



C. something to burn 

D. that burns

The correct answer is A.

“Can you smell something burning?”

43. Which pair of words does not rhyme?

A. break, steak



B. height, white

C. weight, eight

D. above, move

The correct answer is D.

above, move

44. The plants won’t grow unless you .................... regularly.

A. are taking care of them



B. water them




C. will look after them 

D. don’t give them water

The correct answer is B.

The plants won’t grow unless you water them regularly.

45. Their dog was ............... by a car and almost died.

A. run over



B. knocked in



C. got injured 

D. taken across

The correct answer is A.

Their dog was run over by a car and almost died.

46. He often goes to England by car but he’s never really got ........on the left.

A. used to drive



B. having to drive

C. driven

D. used to driving

The correct answer is D.

He often goes to England by car but he’s never really got used to driving on the left.

47. A Native American is someone .............................

A. who came to the USA from a Spanish-speaking country

B. whose ancestors came to America on the Mayflower

C. who lived at the time of the American War of Independence

D. whose ancestors were in America before the Europeans arrived

The correct answer is D.

A Native American is someone whose ancestors were in America before the Europeans arrived.

48. Mike and his wife ............ the old farmhouse for almost a year. They say it’ll take another year to finish it.

A. have redecorated


B. have been restoring

C. are working on

D. were rebuilding

The correct answer is B.

Mike and his wife have been restoring the old farmhouse for almost a year.

49. She loves playing computer games .......... she’s nearly seventy!

A. however



B. therefore



C. by the time 

D. even though

The correct answer is D.

She loves playing computer games even though she’s nearly seventy!

50. It’s going to be so lonely without you. I wish ............. go away.

A. that you didn’t



B. I don’t



C. you didn’t have to 

D. you must

The correct answer is C.

It’s going to be so lonely without you. I wish you didn’t have to go away.

51. Complete the list: pavement/sidewalk, theatre/theater, lift/....

A. elevator         

B. escalator         

C. tractor         

D. helicopter

The correct answer is A.

lift/elevator

52. The motorway was closed for six months because it needed ......

A. to widen


B. widening


C. be repaired 

D. it to repair

The correct answer is B.

The motorway was closed for six months because it needed widening.

53. She had just washed the kitchen floor so she ............... clean the mud off their shoes before they came in.

A. asked them for



B. had the children


C. told the guests

D. got everybody

The correct answer is B.

She had just washed the kitchen floor so she had the children clean the mud off their shoes before they came in.

54. What happened in 1775?

A. The American War of Independence began.

B. The Pilgrim Fathers arrived in America.

C. The American Civil War ended.

D. George Washington signed the American Constitution.

The correct answer is A.

The American War of Independence began.
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1. Excuse me, where ........... the park?

A. does 
B. is 
C. are 
D. it 
The correct answer is B.

Excuse me, where is the park?
2. My cousin ............. two cats and a dog.

A. has got 
B. does
C. have 
D. isn’t
The correct answer is A.

My cousin has got two cats and a dog.
3. On Wednesday afternoons in the summer, we usually .......... cricket.

A. are playing 
B. go 
C. play 
D. are looking at
The correct answer is C.

On Wednesday afternoons in the summer, we usually play cricket.
4. Today it’s cloudy in the south of England and it’s ......... in the north.

A. rain 
B. snowing 
C. sun 
D. weather
The correct answer is B.

Today it’s cloudy in the south of England and it’s snowing in the north.
5. Which word is not something you can eat?

A. apple 
B. floor 
C. ham 
D. meat
The correct answer is B.

Which word is not something you can eat?  floor

6. You are writing an email to your uncle Jim. How do you start?

A. Dear Uncle Jim 

B. Yours sincerely 
C. Nice to meet you 
D. This is me
The correct answer is A.

Dear Uncle Jim
7. “Is Mark .............. work in a bank?” “No, he wants to be a teacher.”

A. want 
B. making 
C. going to 
D. look for
The correct answer is C.

“Is Mark going to work in a bank?” “No, he wants to be a teacher.”
8. It’s getting late so ................... look for a hotel in the next town?

A. why don’t we 

B. what about 
C. how about 
D. I’d like
The correct answer is A.

It’s getting late so why don’t we look for a hotel in the next town?

9. .......................... is a borough of New York City.

A. Manhattan 
B. San Francisco 
C. Chicago

D. Texas
The correct answer is A.

Manhattan is a borough of New York City.
10. The spaghetti sauce is quite nice, but I think it needs ....... more salt.

A. many 
B. a little 
C. every 
D. a few
The correct answer is B.

The spaghetti sauce is quite nice, but I think it needs a little more salt.
11. Look at those two boys. They’ve got the same red hair and the same nose. 
...................... be brothers.

A. They can’t 

B. He can have 
C. There can 
D. They must
The correct answer is D.

Look at those two boys. They’ve got the same red hair and the same nose.
They must be brothers.
12. Complete the “family” of words: plate, cup, spoon, ...........

A. wall 
B. glass 
C. window 
D. bookcase
The correct answer is B.

Complete the “family” of words: plate, cup, spoon, glass

13. Our Maths teacher has ................ a lot of homework to do tonight.

A. wrote 
B. told us 
C. given us 
D. spoke
The correct answer is C.

Our Maths teacher has given us a lot of homework to do tonight.
14. “Head” rhymes with “...................”

A. hide 
B. bed 
C. feed 
D. heat
The correct answer is B.

“Head” rhymes with “bed”.

15. The White House is where ............................................. lives.

A. the Queen of England 

B. the President of the USA 
C. the Prime Minister of Ireland 
D. Sherlock Holmes
The correct answer is B.

The White House is where the President of the USA lives.
16. If he ...................... faster we’ll never get to the airport on time.

A. will go 
B. can drive 
C. won’t

D. doesn’t drive
The correct answer is D.

If he doesn’t drive faster we’ll never get to the airport on time.
17. There are ....................... states in the USA.

A. thirteen 

B. four 
C. fifty 
D. three hundred
The correct answer is C.

There are fifty states in the USA.
18. ...................... Monday mornings, I have English and Maths.

A. In the 
B. On 
C. The 
D. In
The correct answer is B.

On Monday mornings, I have English and Maths.
19. “Have you got the new James Bond DVD?” 
“I’m not sure. We sold a lot this morning. I don’t think there ....................... left.”

A. is much 
B. aren’t many 
C. is 
D. are any
The correct answer is D.

“Have you got the new James Bond DVD?”
“I’m not sure. We sold a lot this morning. I don’t think there are any left.”

20. Pronunciation: “destination” = o o O o; “impossible” = “.............”

A. O o o o 

B. o O o o 

C. o o O o 

D. o o o O

The correct answer is B.

 Pronunciation: “destination” = o o O o; “impossible” = “o O o o”

21. I only saw him once and it was a long time ago but I .....................

remember what he looks like.

A. already 
B. yet 
C. since 
D. still
The correct answer is D.

I only saw him once and it was a long time ago but I still remember what he looks like.
22. I can’t see very well with these glasses. I think I need ..................

A. some 

B. new ones 
C. the different ones 
D. a more powerful one
The correct answer is B.

I can’t see very well with these glasses. I think I need new ones.

23. You see a sign that says “Breakfast is served from 7 to 10 a.m.”.

Where are you?

A. At the library. 

B. In a shop. 
C. In a museum.
D. In a hotel.
The correct answer is D.

You see a sign that says “Breakfast is served from 7 to 10 a.m.”.

Where are you? In a hotel.
24. French and Spanish are the subjects ............... study at university.

A. she plans to 
B. which can 
C. could she 
D. who
The correct answer is A.

French and Spanish are the subjects she plans to study at university.
25. This is a picture of Kate ..................... husband is Prince William.

A. who has a 
B. whose 
C. who is 
D. of which the
The correct answer is B.

This is a picture of Kate whose husband is Prince William.
26. “Can the doctor see me very soon?” “Oh yes. You won’t ...................... to wait very long.”

A. have got 
B. be able 
C. have 
D. be
The correct answer is C.

“Can the doctor see me very soon?” “Oh yes. You won’t have to wait very long.”
27. The two most popular sports on TV in the USA are American football and ......................

A. soccer 
B. cycling 
C. cricket 
D. baseball
The correct answer is D.

The two most popular sports on TV in the USA are American football and baseball.

28. Which pair of words does not rhyme?

A. jeans, greens

B. receive, believe 
C. white, sight 
D. eight, height
The correct answer is D.

Which pair of words does not rhyme? eight, height
29. In the 19th century, young children .................... work in factories and in coal mines.

A. used to 
B. were 
C. couldn’t 
D. have got to
The correct answer is A.

In the 19th century, young children used to work in factories

and in coal mines.
30. Everyone ............... fun at the club when a man suddenly shouted,“Fire!” 
There was panic as people ran to the exits.

A. was having 
B. had 
C. were making 
D. enjoyed
The correct answer is A.

Everyone was having fun at the club when a man suddenly shouted,“Fire!” 
There was panic as people ran to the exits.

31. Mrs Jones sees a strange cat in her garden, eating her flowers. 
She is furious and shouts, “Get ............... of my garden!”

A. in 
B. out 
C. down 
D. back
The correct answer is B.

Mrs Jones sees a strange cat in her garden, eating her flowers. 
She is furious and shouts, “Get out of my garden!”
32. Freddy can’t ....................... classical music. He only likes jazz.

A. stand 
B. miss 
C. mind 
D. help
The correct answer is A.

Freddy can’t stand classical music. He only likes jazz.
33. She’s very mysterious and secretive. You never know what .............

A. is she doing 

B. does she think 
C. she’s thinking 
D. is she going to do
The correct answer is C.

She’s very mysterious and secretive. You never know what she’s thinking.

34. If Mr and Mrs Peters ..................... more money, they would go to restaurants more often.

A. had 
B. didn’t have 
C. will have 
D. have a lot of
The correct answer is A.

If Mr and Mrs Peters had more money, they would go to restaurants more often.
35. You hear a young boy say, “No more for me, thanks. I’m full up.” Where are you?

A. At a taxi rank.

B. At the booking office of a train station.

C. At the reception desk of a hotel.

D. In someone’s house, having dinner.
The correct answer is D.

You hear a young boy say, “No more for me, thanks. I’m full up.” Where are you? 

In someone’s house, having dinner.

36. Our neighbours ............... their children play in the street because

they think it’s too dangerous.

A. allow 
B. want 
C. don’t let 
D. make
The correct answer is C.

Our neighbours don’t let their children play in the street because

they think it’s too dangerous.

37. Black people in the USA prefer to be called ...............................

A. African-Americans 

B. Native Americans 
C. Pilgrim Fathers 
D. First Nations
The correct answer is A.

Black people in the USA prefer to be called African-Americans.

38. If ................................. , I’d buy a new mobile phone. Yours doesn’t work very well.

A. I give you the money 

B. I were you 
C. I can say 
D. you’re like me
The correct answer is B.

If I were you, I’d buy a new mobile phone. Yours doesn’t work very well.
39. Pronunciation: “constitution” = o o O o; “economics” = “........”

A. O o o o 

B. o O o o 

C. o o O o 

D. o o o O

The correct answer is C.

Pronunciation: “constitution” = o o O o; “economics” = “o o O o”

40. “Black doesn’t suit you,” she said, “You .............. wear bright

colours.”

A. should 
B. ought 
C. has to 
D. shouldn’t
The correct answer is A.

“Black doesn’t suit you,” she said, “You should wear bright colours.”

41. Mike is playing Scrabble with you. He asks, “Is it my turn?” What can you say?

A. No, it’s your turn. 
B. Yes, I’ve won. 
C. No, it’s mine.

D. Yes, let’s stop.
The correct answer is C.

Mike is playing Scrabble with you. He asks, “Is it my turn?” 

What can you say? No, it’s mine.
42. “Rough” rhymes with “.......................”.

A. thought 
B. enough 
C. through 
D. though
The correct answer is B.

“Rough” rhymes with “enough”.
43. “I can see a bus ..................... . Is it ours?” “No, it’s a number 39. We want a number 45.”

A. comes 
B. that comes 
C. arrives 
D. coming
The correct answer is D.

“I can see a bus coming. Is it ours?” “No, it’s a number 39. We want a number 45.”
44. They were only two miles from their destination when they

........................ of petrol and the car stopped.

A. had no more 
B. ran out 
C. went through 
D. got down
The correct answer is B.

They were only two miles from their destination when they ran out of petrol and the car stopped.

45. The police can’t arrest him ........................... prove he was at the scene of the crime.

A. if they can 

B. until it is 
C. unless they can 
D. until they will
The correct answer is C.

The police can’t arrest him unless they can prove he was at the scene of the crime.
46. The top eight universities in the USA are sometimes called the ..........................

A. Pentagon 
B. Ivy League 
C. Liberty Bell 
D. Capitol
The correct answer is B.

The top eight universities in the USA are sometimes called the Ivy League.

47. He’s lived in Scotland for years but he’s never ...................... wearing a kilt.

A. was interested in 

B. got used to 
C. had the chance to 
D. been able to
The correct answer is B.

He’s lived in Scotland for years but he’s never got used to wearing a kilt.
48. I wish we ................. to the country. I’m fed up with living in a city.

A. can go 

B. could move 
C. will go 
D. didn’t have to move
The correct answer is B.

I wish we could move to the country. I’m fed up with living in a city.
49. The composer’s new symphony is almost ready. 

He ............................... it for the last seven months.

A. has composed 

B. composed 
C. has been composed 
D. has been composing
The correct answer is D.

The composer’s new symphony is almost ready.

He has been composing it for the last seven months.
50. Even .................... it was very hot in the restaurant, he kept his jacket on.

A. though 
B. although 
C. however 
D. if
The correct answer is A.

Even though it was very hot in the restaurant, he kept his jacket on.
51. I knew he was frightened because he was trembling like a ........

A. leaf 

B. volcano 

C. lake 

D. ghost
The correct answer is A.

I knew he was frightened because he was trembling like a leaf.

52. “The house is in quite good condition, sir,” said the estate agent, 
“But ............................. redecorating.”

A. you’ll probably want 

B. it does need 
C. it could do 
D. I think it’s
The correct answer is B.

“The house is in quite good condition, sir,” said the estate agent, 

“But it does need redecorating.”
53. When it’s someone’s birthday, you can say “Happy birthday” or you can say, “...................................”

A. Happy anniversary 

B. Many happy returns 
C. Good hunting 
D. Cheers
The correct answer is B.

When it’s someone’s birthday, you can say “Happy birthday” or you can say, 
“Many happy returns.”
54. About 38 million people who live in the USA were not born there.

Over 9 million of them come from ..................................

A. Cuba 
B. the Philippines 
C. Mexico 
D. China 
The correct answer is C.

About 38 million people who live in the USA were not born there.

Over 9 million of them come from Mexico.
